Day 8 - Sigma Notation after.notebook

February 15, 2018

Questions from Homework
® F\;\} O\,é,nncs {n

Q+q5=q ) Q-&-J: —\3

J(a: —,\—_— % :S__
t.- 0\*(3_“8 ’(55'- ot (3 M © 9“}—:—\3 a+(D=-1
{_l= o a Lﬁe C\+qé
_’\_3—_ o\-\d q = G\-Irl'(()
o= ate-Dd
tn :-\’\+(n~l)o)
o A= BN
@ = ) 8\3: %{a(‘a) +(‘3-D(“D]
if\: = o[ -n)
{ia=| = 6(13)
Sp= =13
of
4 1)
S = %(
- o(13)
- %
@ Sg:? 6“: CX((“— 0
o= 00 -1 .
h=5 Ss- 6od - 1)
r- 03 () 03\
> _ 59(0.3e3-1)
-0.2
= N(0.61939)
,_O"a
= 48

N5 deaths

~
—~



Day 8 - Sigma Notation after.notebook

February 15, 2018

Questions from Homework

© Jr.\‘:%xg \
Leee™
far

3
B} —af

\i = 3‘5(9 Xg
An=ac™

)
t, =oc

Foox_ <o

3

Elvprdiion \QJ
dision
'aﬁc_-,xz = arj 5 %x:;: o .
X -ar B =a(d9)
> (g > 2,
‘.5)’(\/'— BL‘S: o\(gx )
| = o
of 36 C')BXS> = ij
M=
kv\ —a( ot

OO
JD\ - @“\“—\



Day 8 - Sigma Notation after.notebook February 15, 2018

Sigma Notation

For the sequence 1, 2, 4, 8, 16, 32, 64 there 1s an associated sum
called aseries. — ——

The Greek symbol ¥ (sigma) is used to write the series in compact
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the terms form a geometric sequence  This symbol is read as the sum of the terms
witha=1,r=2,t,=1(2)! of the sequence given by £=2n1 fromn =1
ton="7"

We can also say:
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Find each sum: SQ“‘“‘\ \econ
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Write the following series inSigma Notation

2_|_5_|_8 _|_1 1 +1 4 gjllgtt:ype of series is it?
a=72
d=3 Sigma Notation
t,=2+ n-1)(3)

=2+ﬁ13 >

—3n-1 :23}7—1

n=l1
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